3L G E
S UL ELE PR S LT

AR RREEFRMCDE YRR MRS T D BT
HEEFRERFEIR XY FRELAZEE B IHEFET M

1. 2 E2E W1/ )T =3I AL AREEFEFT > AXERP P
fﬁ ?ﬁvp‘iﬁﬁkﬁmM”\éﬁ\mﬁgﬁ\&Wﬁﬁﬂrﬁg
AREEE T

2. B2 ¢ 3 N QIR ARF A R 18/T(=)% 19/7(x )T = 2:30-5:30
BARMEEFTEEL > FE T RPFIREME-

LA }F'g‘sbi-gt-?;#i“‘ ?Pb-ﬁxm%}”ﬁ—‘\ ’ i—g-ﬁﬁ)"f&

4E MR ITRE 2 B A 30/8( ) F = 9:30 3 T+ 5 pE
rREFEALEBZYEPHRPM IR FHBZEF RN POERES > 12
PEEATEEYZ A EFR 22 ARmAEY R A2 p IR p R
B AEY B AR EEEI B A BBEHAN (2 FA T FRE T
RET B H 2 JRAF > fh3 % FEREE L 22754 0)

4. A RE € AR 30/8(x )T HPFI O A RMEFTATE RE £
PEE FRE R B RS (T2 00 ERE B R A TR

5. 12-13 8 e RE PP~ 2012 & 92 3 p(F- ) 2L BFREFREH
LB EWER LS 8D BT FEARIR T RO ESFE LA B - 12-13
g E AT L H K 8 P K A RPN ER S AT
(WWW. ESLC. K12. EDU.MO) + 2 » 58 4 p = A B -

LA

& - E

¢ R

-3\:\
*“*”‘G

P B A
iﬁ? 3r/£.

2012 & 77" 6P



